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Instructions : (1) All questions in Section — I carry equal marks. (14)
(2) Attempt any three questions our of Eight in Section — I.
(3) Question No. 9 (Nine) in Section — II is compulsory. Write any
4 (four) MCQ out of 8 (eight). Each MCQ question carry 2 (two)

marks.

SECTION -1
1.  Derive Slutsky equation for two commodities and give Economic interpretation of it. 14
2. (1) What is the difference between Marshalian demand function and compensated

demand function ? 7

(2) Explain the convexity of following utility function :

U=q,q, 7
3. State Cobb-Douglas production function and explain its properties (characteristics). 14
4.  State the ‘CES’ production function and explain its characteristics. 14

5. The demand function of a monopolist firm is P = 500 — 10 Q and Total cost function is
C=100+20Q. 14
(1)  On the basis of given function, how much price should be kept for maximum
profit of a firm ?
(2) Find equilibrium production at equilibrium price.
(3) At which value of Price (P) and Production (Q) the goal of firm to maximize
Total Revenue can be possible ?
SD-134 4



6.  Total Cost function of a firm in perfect competition is C = 200 + 10 Q + 5/2 Q? and
market price is I 60 per unit then find equilibrium level’s Total Revenue, Total Cost,

Maximum Profit and Total Production. 14
7.  An IS-LM Model is given as below : 14
y=C+1
C=160+ 0.6y

[=20+0.1y - 6r
L=50+0.5y —5r

L=M

Where M = 200 (constant)
(1) Find the equations of IS and LM curve.
(2)  Solve the model, find the equilibrium value of y and r.

(3) If M changes from 200 to 300, what will be effect on equilibrium value of y

andr ?
8. (1) Explain Keynes’ Macro Economic model with an example. 7
(2) Explain classical model of income determination. 7

SECTION - 11

9.  Multiple Choice Questions :
(Write any 4 questions out of 8) (Each question carries 2 marks.)

(1) The slope of indifference curve is 2
(a) Negative (b) Positive
(c) Zero (d) Infinitive

(2) Inutility function U = qf qg, ifq,=3andq,=4,thenU=2? 2
(a) 150 (b) 144
(c) 12 (d) 160

(3) Which is the Cobb-Douglas production function from the following ? 2
(a) Q=AK+*LP (b) Q=KoLP

A

(©) Q=AK® @ Q=rurs
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(4) Producer’s rational behaviour means
(a) Maximum Cost (b) Maximum Profit
(¢) Maximum Utility (d) None of the above

(5) Number of firms in Duopoly is
(a) One (b) Two
(c) Three (d) Seven

(6) As per theory of Marginal Productivity each factor of production get
return (income).
(a) Average Productivity (b) Marginal Productivity
(c) Total Productivity (d) None of the above

(7) The slope of IS-curve is
(a) Positive (b) Negative
(c) Zero (d) Infinitive

(8) The slope of LM-curve is

(a) Positive (b) Negative
(c) Zero (d) Infinitive
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SECTION -1

Attempt any three.

1. Discuss the opportunity cost and problems of rationing health care.

2. Explain the market failure and role of government in health sector.

3. Discuss the options for financing health care in developing countries.

4.  State the decentralization and role of the private-public mix health system reforms.

5. Write a detail note on education productivity and employment.

6. Discuss the investment in education sector of India.

7. Explain the alternative method of financing in education.

8. Discuss the special programme for education in India.
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SECTION -

Attempt any Four.

9. Multiple Choice Questions :

(1)

(2)

3)

(4)

)

(6)

SD-134

Health sector is a part of

(a) Primary Sector (b)
(c) Tertiary Sector (d)
Health care sector is a affair.
(a) State (b)
(¢)  Union Territories (d)
WHO is organization.

(a) Local (b)
(c) Central (d)

Headquarters of WHO is located at
(a) India (b)
(c) China (d)

New Education Policy launched in

(a) 1918 (b)
(c) 2020 (d)
Education is a/an affair.

(a) State (b)
(¢) International (d)

11

I

Secondary Sector

None of the above

Central

None of the above

State

International

Geneva

US.A.

year.
2018
2021

Central

Independent
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(7)

(8)
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HIV is
(a) Virus (b) Bacteria
(c) Disease (d) TIllusion

What is the relationship between education and health ?
(a) Zero (b) Positive

(c) Negative (d) None of the above
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